
COMPONENTS

A

H

D

HARDWARE & TOOLS

Top -1pc Frame (left) -1pc

E Frame (right) -1pc G Support Bar - 2pcs

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product!

  Screw M6*15 - 12pcsI J   Allen Key - 1pc

BEND -  Bend Open Bookcase

NBF-BK3272

Tools Required for Assembly

 Philips Screw Driver for 

  Screw M6*40 - 8pcs

Adjustable shelf - 4pcsB

F Frame (back) -1pc

INSTRUCTIONS
STEP 1

Bottom - 1pcC

M   Adhesive cover - 16pcs

LK   Cam lock - 16pcs  Cam bolt - 16pcs

L  x 16

B

D

E

K  x 16

N   Hanger - 2pcs O   Screw M3.5*14 - 1pc P   Screw M4*25 - 1pc Q   Stud - 1pc R   Strip tie - 1pc

 x 4



ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product!

STEP 2

NBF-BK3272

INSTRUCTIONS

STEP 3

B

B

B

B

D

E

G

G

I  x8

J

BEND -  Bend Open Bookcase

C

H  x8

J

A

STEP 4

J

I  x4

F

M  x16

STEP 5
Q N  x2

P
O

R

N

L




